

10 p30

$$S_n = 4 \cdot 1 + 7 \cdot 4 + 10 \cdot 4^2 + 13 \cdot 4^3 + \dots + (3n+1) \cdot 4^{n-1} \quad \dots \textcircled{1}$$

$$4S_n = 4 \cdot 4 + 7 \cdot 4^2 + 10 \cdot 4^3 + \dots + \{3(n-1)+1\} \cdot 4^{n-1} + (3n+1) \cdot 4^n \quad \dots \textcircled{2}$$

① - ② より

$$\begin{aligned} -3S_n &= 4 \cdot 1 + 3 \cdot 4 + 3 \cdot 4^2 + 3 \cdot 4^3 + \dots + 3 \cdot 4^{n-1} - (3n+1) \cdot 4^n \\ &= 4 \cdot 1 + 12 \cdot 1 + 12 \cdot 4^1 + 12 \cdot 4^2 + \dots + 12 \cdot 4^{n-2} - (3n+1) \cdot 4^n \\ &= 4 \cdot 1 + 12 \cdot 4^0 + 12 \cdot 4^1 + 12 \cdot 4^2 + \dots + 12 \cdot 4^{n-2} - (3n+1) \cdot 4^n \end{aligned}$$

初項12, 公比4, 一般項  $12 \cdot 4^{n-1}$  まで初項から第  $(n-1)$  項までの和

$$= 4 \cdot 1 + \frac{12(4^{n-1}-1)}{4-1} - (3n+1) \cdot 4^n$$

$$= 4 \cdot 1 + 4(4^{n-1}-1) - (3n+1) \cdot 4^n$$

$$= 4 + 4^n - 4 - (3n+1) \cdot 4^n$$

$$= 4^n - (3n+1) \cdot 4^n$$

$$= 4^n \{1 - (3n+1)\}$$

$$= 4^n (-3n)$$

$$-3S_n = -3n \cdot 4^n$$

$$S_n = n \cdot 4^n$$

$$\therefore S_n = n \cdot 4^n$$

公式  
等比数列

$$a_n = a \cdot r^{n-1}$$

$$S_n = \frac{a(1-r^n)}{1-r} = \frac{a(r^n-1)}{r-1}$$

解法

$a_n =$  等差数列  $\times$  等比数列 の和  $S_n$  の求め方は、  
等比数列の公比  $r$   $a$  だけ。

$S_n - rS_n$  を計算して解け